Figure 1 A Intratracheal administration
PES PES PES PES Sacrifice
PBS Day 0 7 14 21 25
PEE Sa(ﬁfice
PPE Day 0 25
Papain Papain Papain Papain Sacrifice
Papain & k2
apain pay o 7 14 21 25
B Inspiratory capacity/ weight Dynamic lung compliance Airway resistance
80 - 0.1 4 * 1, ns. n.s.
70 | - % 0.09 | XX w P 0.9 - .o B
T R 0.08 | 0.8 - 1 _
60 | . A S o 1, .
= . - Q,0.07 | 2071 [ . .. N
<50 4 . E 0.06 | $ 0.6 1 BRI
S ° 5 3
40 { oy = 0.05 i s INo.S— -
230 * = 0.04 | it E£04
920 ©0.03{ a0 0.3 |
0.02 | Coz2 |
10 4 0.01 { 0.1 4
0 : 0 - 0 ‘ ‘ 1
PBS PPE Papain PBS PPE Papain PBS PPE Papain
D Mean linear intercept
21007 T e
_— n.s.
2 0| .
= I
L 804 .= 4
2 70 | B
g 60 |
£ 50 |
5 900 ot
2 30|
< 20 4
S 10 |
S o : ; i
PBS PPE Papain

PBS

Cell counts [ x

A

(AB-PA

Cell counts in BALF

* ok
% % oPBS
oPPE

oPapain

R (cmH,0.s/ml)

Airway responsiveness to methacholine

13 {e—PBS s
12 {a—PPE s
11 {.—Papain
10 A A
9
8 4 Papain e
7 T A
6 . Aa *
5 | . k R
4 | M PBS .'
3 |
‘ PPE :

24
14 o o *.
0 . , ,

0 50 100 150 200

Methacholine (mg/ml)



